



姓名: _____

日期: _____ 分數: _____

$$\left(\frac{1}{2}\right)^2 + \frac{1}{3} =$$

$$\left(\frac{3}{4}\right)^{(-1)} + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{3}{4}\right)^{(-2)} + \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{3}{5}\right)^{(-2)} - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{2}{5}\right)^{(-2)} - \left(-\frac{1}{3}\right) =$$

$$\left(\frac{3}{5}\right)^2 - \frac{1}{5} =$$

$$\left(-\frac{1}{4}\right)^{(-2)} - \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{6}\right)^{(-2)} + \frac{3}{4} =$$

$$\left(\frac{3}{4}\right)^0 + \frac{2}{5} =$$

$$\left(\frac{1}{5}\right)^{(-2)} - \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{3}{5}\right)^2 - \frac{1}{5} =$$

$$\left(-\frac{3}{5}\right)^2 + \frac{1}{3} =$$

$$\left(\frac{1}{2}\right)^0 - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{3}{4}\right)^{(-2)} - \frac{2}{5} =$$

$$\left(\frac{3}{4}\right)^2 - \frac{1}{5} =$$

$$\left(-\frac{3}{4}\right)^{(-1)} + \frac{1}{2} =$$

$$\left(\frac{1}{5}\right)^2 + \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{6}\right)^2 + \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{3}\right)^{(-1)} - \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{2}\right)^{(-1)} + \left(-\frac{1}{2}\right) =$$



姓名: _____

日期: _____ 分數: _____

$$\left(\frac{1}{2}\right)^2 + \frac{1}{3} = \frac{7}{12}$$

$$\left(\frac{3}{4}\right)^{(-1)} + \left(-\frac{3}{4}\right) = \frac{7}{12}$$

$$\left(-\frac{3}{4}\right)^{(-2)} + \left(-\frac{1}{4}\right) = \frac{55}{36} = 1\frac{19}{36}$$

$$\left(-\frac{3}{5}\right)^{(-2)} - \left(-\frac{1}{6}\right) = \frac{53}{18} = 2\frac{17}{18}$$

$$\left(\frac{2}{5}\right)^{(-2)} - \left(-\frac{1}{3}\right) = \frac{79}{12} = 6\frac{7}{12}$$

$$\left(\frac{3}{5}\right)^2 - \frac{1}{5} = \frac{4}{25}$$

$$\left(-\frac{1}{4}\right)^{(-2)} - \left(-\frac{3}{4}\right) = \frac{67}{4} = 16\frac{3}{4}$$

$$\left(\frac{1}{6}\right)^{(-2)} + \frac{3}{4} = \frac{147}{4} = 36\frac{3}{4}$$

$$\left(\frac{3}{4}\right)^0 + \frac{2}{5} = \frac{7}{5} = 1\frac{2}{5}$$

$$\left(\frac{1}{5}\right)^{(-2)} - \left(-\frac{2}{5}\right) = \frac{127}{5} = 25\frac{2}{5}$$

$$\left(-\frac{3}{5}\right)^2 - \frac{1}{5} = \frac{4}{25}$$

$$\left(-\frac{3}{5}\right)^2 + \frac{1}{3} = \frac{52}{75}$$

$$\left(\frac{1}{2}\right)^0 - \left(-\frac{1}{5}\right) = \frac{6}{5} = 1\frac{1}{5}$$

$$\left(-\frac{3}{4}\right)^{(-2)} - \frac{2}{5} = \frac{62}{45} = 1\frac{17}{45}$$

$$\left(\frac{3}{4}\right)^2 - \frac{1}{5} = \frac{29}{80}$$

$$\left(-\frac{3}{4}\right)^{(-1)} + \frac{1}{2} = \left(-\frac{5}{6}\right)$$

$$\left(\frac{1}{5}\right)^2 + \left(-\frac{1}{6}\right) = \left(-\frac{19}{150}\right)$$

$$\left(-\frac{1}{6}\right)^2 + \left(-\frac{2}{5}\right) = \left(-\frac{67}{180}\right)$$

$$\left(-\frac{1}{3}\right)^{(-1)} - \left(-\frac{1}{3}\right) = \left(-\frac{8}{3}\right) = \left(-2\frac{2}{3}\right)$$

$$\left(\frac{1}{2}\right)^{(-1)} + \left(-\frac{1}{2}\right) = \frac{3}{2} = 1\frac{1}{2}$$